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Topic break down

Topic No. of Questions

Topic 1: Applinternals Xpert 1

Topic 3: AppResponse Xpert

3
Topic 4: AppTransaction Xpert 4
Topic 5: RPM Dashboards 2
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Topic 1, Applinternals Xpert

Question No : 1 - (Topic 1)

What issues arise in instrumenting a Java application using IBM SDK Java when the
command line to start the application is not readily accessible? (Select 2)

A. Some code compilation or modification is needed.

B. You can set the IBM_JAVA_ OPTIONS environment variable to add the argument into
the application startup.

C. IBM SDK Java is not supported.

D. Setting the IBM_JAVA_ OPTIONS environment variable will add the same argument into
every IBM SDK Java application startup.

Answer: B,D

Topic 3, AppResponse Xpert

Question No : 2 - (Topic 3)

Which of the following is not a default metric in a Favorites table?

A. Packet loss (inbound)

B. Throughput (inbound and outbound)
C. Connection requests (TCP servers)
D. Round trip time (outbound)

E. Server response time (clients)

Answer: A

Question No : 3 - (Topic 3)

If your company wishes to centrally manage and configure several AppResponse Xpert
appliances at once, which of the following solutions would accomplish this?

A. AppResponse Xpert Director appliance

B. AppResponse Xpert Dashboard server

C. AppResponse Xpert Domain Manager appliance
D. AppResponse Xpert Master Console



Riverbed 499-01 : Practice Test

Answer: A

Question No : 4 - (Topic 3)

AppResponse Xpert can decrypt SSL data on the fly. How is that data stored?

A. SSL data is stored encrypted, as it was received.

B. SSL data is stored unencrypted, since it gets decrypted on the fly.

C. For security reasons, SSL data is not stored on the appliance.

D. Only the header information of SSL packets is stored on the appliance.

Answer: A

Topic 4, AppTransaction Xpert

Question No : 5 - (Topic 4)

Refer to the exhibit from the AppDoctor.
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The primary bottleneck is probably due to:

A. Processing at client
B. Chattiness

C. Packet loss

D. Processing at server
E. Latency

Answer: C

Question No : 6 - (Topic 4)

What default threshold does the AppDoctor use to detect user think time on the client tier?

A. 5 seconds
B. 2 seconds
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C. 3 seconds
D. 1 second

Answer: D

Question No : 7 - (Topic 4)

What are the default network settings (bandwidth/latency) used when importing a single
trace into AppTransaction Xpert?

A. Estimated bandwidth / estimated latency

B. 1 Gbps bandwidth / 0 millisecond latency
C. 1 Gbps bandwidth / estimated latency

D. Estimated bandwidth / 0 millisecond latency

Answer: C

Question No : 8 - (Topic 4)

On the Data Exchange Chart tab, what does the arrow's direction indicate?

A. Packet loss

B. Latency

C. It has no meaning
D. Transfer time

Answer: D

Topic 5, RPM Dashboards

Question No : 9 - (Topic 5)

Which of these data sources allow editing of threshold values within the Dashboard user
interface? (Select 3)

A. AppResponse Xpert
B. Applinternals Xpert
C. Cascade Profiler

D. BrowserMetrix
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Answer: A,C,D

Question No : 10 - (Topic 5)

Which of the following are not required to set up pattern-based properties for grouping
metrics in a panel? (Select 3)

A. Create a new property name for each possible value.

B. Add a description.

C. Choose the new property name in the panel's grouping configuration.
D. Enable custom properties either at the server level or dashboard level.

Answer: A,B,D



